
Set operations

A,B sets.

▶ Union A ∪ B: the set of things that are elements of A or B or both.

▶ Intersection A ∩ B: the set of things that are elements of A and B.

▶ Difference A \ B: the set of things that are elements of A but not B.

▶ Symmetric difference A △ B: the set of things that are elements of A or B
but not both.
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Cartesian products

A,B sets. The Cartesian product

A × B = {(a, b) : a ∈ A, b ∈ B} .

((a, b) is called an ordered pair.)

{1, 2, 3}×{3, 4, 5} = {(1, 3), (1, 4), (1, 5), (2, 3), (2, 4), (2, 5), (3, 3), (3, 4), (3, 5)}.
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